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10.1.59 Sketch the graph of the equation. If the graph is a parabola, find its vertex. If the graph is a circle,

find its center and radius.
x=—4y*+24y
Choose the correct graph below.
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Select the correct choice below and, if necessary, fill in the answer box(es) to complete your
choice.

"'?A- The graph is a parabola with the vertex located at
(Type an ordered pair.)

{!B. The graph is a circle with radius [JJ].
The center is located at .
(Type an ordered pair.)
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TI-84+ GC 35 ZOOM Square for Circles

Objectives: Graph several semi-circles simultaneously on the GC
Use the VARS menu to refer to another y in the Y= menu and save typing

Use ZOOM Square to make the circles round on the GC screen
Notice the limitation of GC graphs for circles

The VARS button has two menus: VARS and Y-VARS. Y-VARS refers the Y= menu.
If we have defined y, in the Y=menu, and y, is the opposite of y,, we can use the Y-VARS menu

to make y, = -y,

1) What shape is the graph of x> +y* =257

2) Solve x* + y* =25 fory, put these two equations into GC as y, and y,.

(2 )5 (=)
Define y, as y, =-y,

| (= ] ENTER

@ Open VARS:* . Move to Y-VARS: . Select Function: . Select y,:
ENTER ENTER

C]. Move to next: D

3) What shape is the graph of y =-/6.25-x* ?

4) Put y=—/625-x* as y, in GC.

ENTER

5) What shape is the graph of (x+2)’ +(y~2)> =17

6) Solve (x+2)* +(y—2)* =1 fory; put these two equations into GC as y, and y,
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7) What shape is the graph of (x—2)* +(y-2)* =17

8) Solve (x—2) +(y-2)* =1 fory; put these two equations into GC as y, and y,

ZOOM
9) Graph in a standard window: D @ What errors does the GC make?

(eon]((5 )

10) Graph in a square window: . Which error(s), if any, does this window fix?

11)  Sketch the graph of all of these semicircles on the same axes. Use what you know about
how the center and radius of a circle appear in its equation. Sketch the axes very lightly. You
may wish to use a GC table from x=-5 to x=5 . Be sure your graph corrects the GC errors.
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